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The mean (Expectation) (W), The variance (O 2) , The standard deviation (O),
The coefticient of correlation (r) .
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@ If A and B are two independent events of a sample | ¢l2d s pdi s o o P 5 13)

space S for a random experiment where : Al gde & >d die
P(A) = 0.6,P(B) = 0.3,then SY=(@)d 10
PB—-A)=voe oo = (P-o)d ob
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If A and B are two events of a sample space S for | Cddie el s S O PSS 13)

a random experiment ,then L3l gk L o)
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@ If the regression line equation Y on X is: o e o2 ool Jas dslas 5813
2Y = 3 + X, then the correlation between the (Do PN i Y= DY 2
values of X and the valuesof Y is.......... | ... 0959 2 oo
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@ Answer only one item from the items of this question: | 3,38 jc Coai LN S5t -2

If Yx=41,Yy=55,Yxy =362, :4ad8 S g
coo= X 8\ = W& G813

Yx*=256,Yy* =523 andn=8 0 ot 0B b
. ¢ Yol = Lwl ¢ ¥y = uau.u'l
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(a) Pearson’s linear correlation coefficient between SO B ua“
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X and Y and determine its type. :
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(b) The regression line equation of Y on X .







@ If X is a normal variable whose mean =5 and
its standard deviation 0 = 4 ,then the variable
subjected to a standard normal distribution is:
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@ If Z is a standard normal variable 375 6 slms Ulncls 1o o O 13
and P(Z = —k)=0.9834,then k =...... | -weee =J0L L ANE= (S -Cae)
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@ If x is a discrete random variable whose Walaine Ul gt 1o~ O 130
probability distribution is as follows: : SV JlasV an § 5
Xy 1 2 4 a P 3 v \ A
f(x,)| 02 b 0.4 0.1 SN IR BN S B GRS I
Find : S s g
First  : The value for each of a and b if the mean L IO 1310 P e IS ded
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Second : The standard deviation of the random ‘ T- M “"’w ”,
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If X is a continuous random variable, its
probability density function is :

1

flx) = {Z(2x+ 1) when2<x<5
zero otherwise

Find :

First :P(3<x<5)

Second : P(x > 4)
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@ If the mean for a random variable equals 47 and e Sl iie) Jaw gzt OIS 13)

its variance equals 100 ,then the coefficient of Ve gslus anls N PEAY S\l
variation of it equals ........... % (approximately) oo 69\ &) MY Jalas
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IFP(A) =2, P(BJA) =1, %=(p/9)gg%=</r>a;,\5\sg
then PLANB) = ceoeeveeee | =(cNhHJok
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@ From the data of the following table: :&;L:S\ Joaadl lls e

X [3]1Je]a4af]3T]s N
y [7]a]s[s8]e6]7 Vv ale e v

Calculate spearman’s rank correlation coefficient Ol yaed <331 L35 Lalas |
between x and y ,then show its type.
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@ Answer only two items from the items of this question :

A 50- student classroom has 15 study Chemistry,

25 study Biology and 10 study both subjects.

A student is randomly chosen, Calculate the

probability the student chosen studies:

(a) Chemistry if He (She) is already studying
Biology.

(b) Biology if He (She) is already studying
Chemistry.

(c) One subject at least.
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@ If X is a normal variable whose mean Ul Glgie Vite e 087 13)

M =17 and its standard deviation 0 =2 Y=g @bl 4l 2l \V = palan gt
Find : d> gla
First : P(16 <x < 20) (Vo> V) Y
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Second : P(x > 15)




